



Donation Agreement for Training Equipment of Egypt Luban Workshop

Party A (Grantor): Tianjin Transportation Technical College

Party B (Grantee): Ain Shams University

According to the content of *Agreement between Tianjin Light Industry Vocational Technical College, China, Tianjin Transportation Technical College, China and Ain Shams University, Egypt on Building the Egypt Luban Workshop, the relevant content of "Construction Plan of High Level Vocational College and Majors with Chinese Characteristics" of Tianjin Transportation Technical College, and to support Party B to build Luban Workshop, Party A donates the following equipment to Party B and the following agreement is reached through consultation between the two parties.*

Article I Party A shall donate the following equipment to Party B:

- Name of the Equipment: Luban Workshop Comprehensive Training Equipment and Accessories (See detailed list for details)
- 2. Value of the Equipment: 370200.00RMB yuan (equal to 57299 USD, converted at the exchange rate on 07/01/2021, exchange rate:6.4609)

Article II The equipment donated by Party A is mainly for Party B to be used inside Luban Workshop for the purpose of training and research.

Article III Delivery of the donated equipment

1. Time of Delivery: The date of departure shall be no more than one month later than the date of signing the agreement (leaving Chinese port);

- 2. Place of Delivery: "Luban Workshop" at Ain Shams University, Egypt;
 - 3. Customs clearance and settlement: Party B shall be responsible for the customs clearance procedures, all the tariffs and fees of transportation, etc. after the equipment arriving in Egypt;
 - 4. Method of Delivery: Party A and the technicians of the suppliers could not go to Egypt for installation and commissioning during the pandemic. So Party B shall do the customs clearance and transportation according to the technical requirements of the supplier of Party A. Party B shall place the equipment in rooms of Luban Workshop for the purpose of storage and management.

Article IV Upon the equipment's arrival, Party B shall fill out the acceptance documents provided by Party A (see the appendix) according to the receipt of equipment. The Luban Workshop program coordinator shall sign and seal on the acceptance documents. Party B shall also issue the legal original copy of financial recipient voucher, and send the acceptance materials as well as recipient voucher to Party A.

Article V Party B shall have the right to use the donated equipment reasonably in accordance with the purposes as specified in this agreement, but shall not change the purposes and location of the donated equipment arbitrarily. The equipment shall be placed at the training rooms of "Luban Workshop" at Ain Shams University.

Article VI Party B shall be responsible for the management and maintenance of the above mentioned donated equipment, and conduct cooperation with Party A according to the purpose of this agreement.

Article VII The intellectual property of the above mentioned donated equipment has nothing to do with Party B. Party B doesn't get the ownership of the intellectual property through the donation.

Atricle VIII Shall this agreement not be performed because of force majeure, the obligations of Party A shall be exempted in whole.

Article IX This agreement shall come into effect upon being signed and sealed by the authorized representatives of both parties. If any disputes should arise in the execution of the agreement, Party A and Party B shall solve them by negotiation.

Article X This agreement is made in duplicate with the same legal effect. Each of the two parties holds a copy.

Party A: Tianjin Transportation Technical College

Representative:

Seal:

Date:

Party B: Ain Shams University

Representative:

Seal:

Date:

| No. | Description | Brand | Model | Manufacturer | Place of Origin | Commodity Property | Unit Price | Qty | Unit | Total Price |
|-----|--|-------|--------------------------------|--|--------------------|---|---------------|-----|------|----------------|
| 1 | Basic Platform | TQD | TQD-Micromouse-JQ | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 4300 CNY | 10 | set | 43000 CNY |
| 2 | Training platform | TQD | TQD-Micromouse-JD | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 3300 CNY | 10 | set | 33000 CNY |
| 3 | Competition platform | TQD | TQD-Micromouse-JM | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 21800 CNY | 4 | set | 87200 CNY |
| 4 | Laser-opposite scoring system | TQD | TQD-Micromouse-Timer | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 12000 CNY | 1 | set | 12000 CNY |
| 5 | Whole maze field | TQD | TQD-Micromouse-Maze | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 28000 CNY | 1 | set | 28000 CNY |
| 6 | Classical Micromouse test site | TQD | TQD-Micromouse-Maze 0.6×0.6 | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 4100 CNY | 4 | set | 16400 CNY |
| 7 | Supporting facilities in the training competition area | TQD | TQD-Micromouse-ZHD | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 8600 CNY | 6 | set | 51600 CNY |
| 8 | Embedded training facilities in Egypt | TQD | TQD-Micromouse-PT | Tianjin Qicheng Science & Technology Co. Ltd. | Tianjin | Proprietary intellectual property right | 99000 CNY | 1 | set | 99000 CNY |

Total: 370200.00 CNY